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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]

3500 -

3000 -

2500

2000

1500 ~

1000

500 -

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-13 0
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P3-13

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS ERR

07:50 312 150.0 28.875 FA| FHR@07:50 KRFIEF (KAL)
08:25 312 150. 0 28.875 FB| FiHA@08:25 KEIEF (KAEEE)
09:15 312 150.0 28. 875 RB| FiHA@09:15 KREFEF (KAFHE)
09:55 312 150. 0 28. 875 FA| 7HA@09:55 ARHIEF (KAEZFESF)
10:30 312 150. 0 28.875 FB| FiHH@10:30 KEIEF (KAEEE)
11:05 312 150.0 28. 875 FB| FiHAe11:05 KREFIEF (KAFHE)
11:40 312 150.0 28.875 BR[| FhHA@11:40 REFEF CRAEZESR)
12:10 312 150.0 28.875 FA| FHA@12:10 KEIEF (KRATERESS)
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16:20 312 150.0 28. 875 M| FiHAe16:20 KENFEF (GRAFERESE)
=21t 4680.0 (15)%) 2250.0 3 WUFHKEC: 2080.0, PH: 5.8

[@;KEC 8683.0 K&, EiNLFKECAE&idEER
7 [ERECE (2007. 0 vs 8683.0) 145
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P3-13

RyiE) | EBIATK (FD) | ERE (EA/4) | EBREE (B/R) [XKS EFRF
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13:35 283 150.0 28.875 [X’M| 1Rige13:35 Bzh (REAEESE)
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P3-13

BriE) | EBIATK (D) | EHE (EH/H) | BEBRERE (/R |[XKS ERE

06:35 283 150.0 28. 875 FH| 1Bi%@06:35 BHzh (RAERES)
07:10 283 150.0 28.875 FH| 1BRi%@07:10 Bzh (KABERESE)
07:45 283 150.0 28. 875 FA| 1Bi&@07:45 Bzh (RkAMEEEE)
08:30 283 150.0 28. 875 FH| 1Bi%@08:30 BHah (KRAEREE)
09:15 283 150.0 28.875 FH| 1RRi%@09:15 Bzh (KAERE)
10:05 283 150.0 28.875 FE| 1BRi%@10:05 Bz (kBERKSE)
10:35 283 150.0 28. 875 FH| 1Bi&@10:35 Bzh (RAEREE)
11:10 283 150.0 28. 875 FH| 1Ri%@11:10 B3h (GRAERSE)
11:40 283 150.0 28.875 FE| 1BRi%@11:40 Bz (kAFERSE)
12:10 283 150.0 28. 875 FA| (Ri&e12:10 Bz (RAHEEEE)
12:45 283 150.0 28. 875 FH| 1Ri%@12:45 Bzh (REBERSE)
13:15 283 150.0 28. 875 FA| {Ri&e@13:15 Bz (GRAEEE)
13:50 283 150.0 28. 875 FE| 1Ri%@13:50 Bz (kABERSE)
14:35 283 150.0 28. 875 FA| {Ri&e14:35 Bzl CGRAEEE)
15:20 283 150.0 28.875 FE| 1Ri%@15:20 Bz (kAFERSE)
16:15 283 150.0 28. 875 FA| 1Bi&@16:15 Bah (KAL)
17:20 283 150.0 28. 875 FA| {Ri&e17:20 Bzl CGRBEREE)
2it] 4811.0 (17%) 2550. 0 3EIUHIKEC: 2080.0, PH: 5.9

MERRNER S 5STREAERSE (184.0 : 136.0), AEEHF—RZ X445
LEOREBIRTC (283) 571H (312. 0) A, FEEH T X BRERS EXIER
ZRIASERRIERE136.0 ml.

[Bl&EC 8824.0 K&, #EiXF{KECAE&HikER

HEEIKECE (2220.0 vs 8824.0) U5



P3-13_0, Day=60 (2025-05-30)
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P3-13

ByiE) | EBIAT (FD) | ERE (EA/4) | EREE(B/R) | XS EFRF

07:10 283 150.0 28.875 S| {Ri&e07:10 Bzh (REEREE)
07:40 283 150.0 28.875 B {Bige07:40 Bz (RPMERE)
08:15 283 150.0 28.875 RS {Ri&e08:15 B (REAEHE)
08:50 283 150.0 28.875 S| 1Ri%@08:50 Bah (REEEEE)
09:20 283 150.0 28.875 (Z=| 1Ri%e09:20 B3h (GREEESE)
09:50 283 150.0 28.875 [Z=| 1Ri&e09:50 Bzh (FREERSE)
10:20 283 150.0 28.875 (& =| 1Rig010:20 B3h (REEESE)
10:50 283 150.0 28.875 (Z=| 1Ri%010:50 B3h (GREEESE)
11:20 283 150.0 28.875 [ =| 1®Rige11:20 Bzh (REERESE)
11:55 283 150.0 28.875 (& =| 1Rige11:55 Bzh (REEESE)
12:30 283 150.0 28.875 (Z=| 1Ri%e12:30 Bzh (GREAEESE)
13:00 283 150.0 28. 875 B 1Rige13:00 B3h (REEESE)
13:30 283 150.0 28.875 BE| Rige13:30 Ba (REAEHE)
14:00 283 150.0 28. 875 e Rige14:00 Bz (REAERSE)
14:30 283 150.0 28.875 B 1Rige14:30 B3h (REEEER)
15:00 283 150.0 28.875 BE| Rige15:00 Ba (REAERE)
15:30 283 150.0 28. 875 BE| Rige15:30 Bz (REAERSE)
16:10 283 150.0 28.875 |Z=| (Ri%e@16:10 Hzh (RF{ERSE)
16:55 283 150.0 28.875 [Z=| 1Ri&e16:55 Bzh (REERESE)
23t 5377.0 (19%) 2850.0 3ESHKEC: 2080.0, PH: 5.8

TERRHER 2 STEEART (184.0 :

136.0), AlEEHT—@ % XA HS

LoxGERRETC (283) 574 (312. 0) AFF, FIREH T & ARG EIRS £ XER

ZRIASERRIERE136.0 ml.
MR i Bl RECE IR fR 5k .

[Bl&EC 7968.0 K5, iYL F{KECAE&HikE R
FERECE (2337.0 vs 7968.0) 145
RERFEBL I HEREC/PHETR K, FIREIEAENRR
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P3-13_0, Day=59 (2025-05-29)
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P3-13

FfiE) | EBIATK (FD) | ERE (BEA/4) | BEREE(B/R) | XS ERE

07:15 283 150.0 28. 875 s {Ri&e07:15 Bz (REERSE)
07:50 283 150.0 28. 875 sl {Ri&e07:50 Bl (REAEHE)
08:30 283 150.0 28.875 | 1Rige08:30 Bzh (KREEEE)
09:05 283 150.0 28. 875 RS {Ri8@09:05 Bz (REERSE)
09:35 283 150.0 28. 875 S| 1Ri&e09:35 Bah (REEESE)
10:05 283 150.0 28.875 BE| Ri&@10:05 Bzl (REAEHE)
10:35 283 150.0 28. 875 e {Ri8@10:35 Bz (REAERSE)
11:05 283 150.0 28. 875 S| 1Rige11:05 Bah (REERESE)
11:35 283 150.0 28.875 sl Rige11:35 Bz (REAERE)
12:15 283 150.0 28. 875 e Rige12:15 Bz (GREAERSE)
12:55 283 150.0 28. 875 S| Rige12:55 Bz (REERSR)
13:25 283 150.0 28.875 BE| Rige13:25 Bal (REAEHSE)
13:55 283 150.0 28.875 RS Rige13:55 Bz (REAEHE)
14:30 283 150.0 28. 875 S| Ri%e14:30 B3 (REERSR)
15:05 283 150.0 28.875 B 1Rige15:05 Bzh (REEESE)
15:40 283 150.0 28.875 S| Rige15:40 Bz (REAERSE)
16:20 283 150.0 28. 875 e Rige16:20 Bz (REAERSE)
17:10 283 150.0 28.875 B {BRige17:10 B3 (RPBERKSE)
24it]5094.0 (18%%) 2700. 0 3E S KEC: 2080.0, PH: 5.7

FERRNEREEFEEART (184.0 : 136.0), AgEHF—RE XAHH5
LOREBIRTC (283) 571H (312. 0) A, FEEH T X BRERS EXIER
ZRIASERRIERE136.0 ml.

RE XK i3k B RECEUR Fhak.

BEREMEC (2413.0) 5i%EEC (2000.0) RELK KA, /T

EREC 7112.0 K&, EINFAKECE&ihEE R

HEEIKECE (2413.0 vs 7112.0) U5

RE RGBT HEREC/PHIELER L, FTRERIMAEBLR K



P3-13_0, Day=58 (2025-05-28)
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